[FIXRBE] #HASEMHTFSERERN - EREAEFLAZTETOR—Y) BEEEREHR
O SHIAEDRE (HIFREEORHEOEE)
= HHFTDHRES Bl & T E B ORES) i
?JL fRHFE4 &t EAE | i &
= R B | AEES |- EE| RABK | [FfE-JE0 %S CPD
7 Bic 5.0 5.0 20.0 18.0 42.0 10.0 100.0
1 |FEEEE 1.00 2.00 4.00 14.00 14.00 5.20 40.20 | 7
2 |IEEEE 2.00 2.00 8.00 16.00 20.50 2.00 5050 | 6
3 (kX1 #HIRIERE 5.00 4.00 20.00 14.00 42.00 9.60 94.60 | 1 = E
4 1K=t HULERE 5.00 5.00 20.00 16.00 15.00 9.60 70.60 | 3 = E
5 [#%kX&tt NSPERE 3.00 3.00 16.00 18.00 38.00 8.00 86.00 | 2 = E
6 |MX=1t MHEMEEER: 5.00 4.00 8.00 18.00 13.00 10.00 58.00 | 4 iE E
7 |#tett S—SHURTURTYLIAY 3.00 2.00 8.00 14.00 28.00 0.00 55.00| 5 2= E




